
Post Learning Assessment  
Multiplication Year 5 Answers 

 
1)   Answer these multiplication sums:  
 

a) 27 x 4 = 108  
 
b)  4 x 180 =  720 

 
c)  30 x 8 =  240 

 
d)  80 x 7 = 560 

 
e) 9 x 300 = 2700 

 
 
2)                        =   199  x   7  
 
 
 
 
 
 

 

3)   89 x 6 =   
 
 
 
 
 
 
 
 

H T O        

 8 9   8 9    

x  6   x  6    

 5 4  5 3 4    

4 8 0  5 5     

5 3 4        

1393 

534 

You are looking for the children to 
demonstrate that they are secure with 
selecting mental methods and to have 
used a variety of these in this set of 
questions.  

Children may have used a mental method 
such as rounding :  
200 x 7 = 1400 then – 7 = 1393  
 
Or the children may have demonstrated 
their understanding of using a formal 
written method.   

Ideally, children 
will be using the 
short 
multiplication 
method. Some may 
be secure in 
expanded method.  
 



 
 
 
 
 
 
 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 

6) 27 x 18 =  
 
 
 
 
 
 
 
 
 
 
 

          

 7 4 5       

x   8       

5 9 6 0       

5 3 4        

          

 6 7 5 0      

x    3      

2 0 2 5 0      

 2 1        

          

          

 2 7        

x 1 8        

2 1 6        

2 

2 

5 

7 
 
0 

       

4 8 6        

4) 745 x 8 =  

5) 6750 x 3 =  

5960 

20250 

486 

Ideally, children will be using the 
short multiplication method. Some may 
be secure in expanded method.  
 

Ideally, children will be using 
the short multiplication 
method. Some may be secure 
in expanded method.  
 

Ideally, children will be using 
the long multiplication 
method. Some may be secure 
in expanded method.  
 



 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 

 
9)  Circle the numbers which are not factors of 48 
 

7           1         16        8           4      3          14     9 
 
 
 
 
 
 
 
 

          

  5 4 3      

   1 4      

 2 1 7 2      

 5 4 3 0      

 7 6 0 2      

          

   6 5 2 0    

  x   2 1    

   6 5 2 0    

  3 0 4 0 0    

 1 3 6 9 2 0    

7) 543 x 14 = 

8) 6520 x 21 = 

7602 

v 

136920 

Ideally, children will be using 
the long multiplication 
method. Some may be secure 
in expanded method.  
 

Ideally, children 
will be using the 
long multiplication 
method. Some may 
be secure in 
expanded method.  
 

Children should be able to identify which numbers are factors of 48 and which 
ones are not.  
 



 
 
10) Use the following numbers to complete this statement  
                     3            9             6             2 
 
 
 
                         and  are both factors of     
  
 
 
 
11) Complete the diagram:  
 
 
   
 
   
 
 
 
 
 
 
 
 
 
 
 
 
 
12)  Find the answer to the following question:  
 
         8    = 
 
 

Think 

 
2 
 

64 2 
 

 
9 
 

 
3 

 

 
6 

 
 

Multiples of 6 

more than 
50 

more than 
100 

also a multiple 
of  5 

Example:  
54,60,66,72, 

Example:  
30, 60,90 

 

Example:  
102, 108, 114, 120 



 

13) Place the correct symbol in the box:  
 

>    =  < 
 
 
              
 
 
 
14) A car show room sells 6 identical cars in one month. They are 
priced at £8975 each. How many much money will the receive after 
2 months.   
The children should demonstrate that they need to multiply the cost of one car 
by 6 and then double this. They may use a written method to work this out.  
 
6 x 8975= 53850 
 
53850 X 2 = 107700 
 
15) Key stage 2 plan a trip to an activity centre for the day. They 
order 5 double decker buses to take all of the children. Each bus 
holds 73 people.  46 members of staff are required to go on the 
trip.  How many children will the buses hold?   
 
The children should pick out that 5 buses were ordered and each holds 73  
people so:  
 
5 x 73 = 365  
 
Then they need to subtract the number of staff  
 
365 – 46 = 319 

 

3 

< 

 
 
 

319 people  
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£107700 


